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Automation distributed technology; you
can run all TV activities in one PC or 100
it depends mainly on your station's

ation virtualises the old
22 controls. (Figure 3) As in this
picture, many PCs are able to control
one VTR without any direct connection
ch PCis able to control all the
devices, without installing an interface or
serial cabling. This means less serial
cabling, fewer connection problems and
maximum flexibility. All your automation
needs run in a fault tolerant, standard, fast
= work. Many ‘serial hubs' are
available on the market, and are widely
used for industrial automation
applications. These devices a
and reliable. In a fault tolerant
configuration two network cards can be
wstalled on each PC. These two cards
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fault tolerant switch. If a fault occurs a

switch takes place at Ethemnet speed or,
better, in the space of milliseconds

This is an application of
technologies developed for la ge Internet
connections. Many manufacturers, like
Intel, offer a wide range of Ethernet fault
tolerant solutions. These solutions are
available off-the-shelf, and can be
installed on any PC. With the same
technology, and using ‘serial hubs', RS422
devices can also be connected in a fault
tolerant environment, with full protection
from any single device failure.

Etere Automation System is a
powerful, flexible and popular
automation system. It offers the best
value for money and more effective
utilisation of resources. Etere Automation
with Distributed Architecture is simply
the most powerful, scaleable and reliable
automation system available; from simple
commercials automation to full station
automation, or off-line operations,
compilation and caching
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